Name:____________________________                                                                             Period:​​​​​​​​​​​​__________

Practice Worksheet:  Stoichiometry

(Show work on your own sheet of paper)

1.                    2 CaCO3  +  2 SO2  +  O2  (  2 CaSO4  +  2 CO2
a. How many moles of CaCO3 are needed to react with 12.5 mol SO2?

b. How many moles of CaSO4 will form if  56.0 L of CO2 gas are produced?

c. How many grams of CaCO3 are needed to react with 25.0 g of O2?

2.                  2 Al  +  3 CuSO4  (  Al2(SO4)3  +  3 Cu

a. How many grams of Al are needed to produce 125 g of Cu?

b. How many grams of CuSO4 are needed to react with 1.5 moles of Al?

3. Using the following equation:   2 NaOH + H2SO4 ( 2 H2O + Na2SO4
How many grams of sodium sulfate will be formed if you start with 200 grams of sodium hydroxide ?
4. Using the following equation:   Pb(SO4)2 + 4 LiNO3 ( Pb(NO3)4 + 2 Li2SO4

How many grams of lithium nitrate will be needed to make 250 grams of lithium sulfate?

5.    

___ Al(OH)3  +  ___ HC2H3O2   →   ___ Al(C2H3O2)3   +   ___ H2O
Balance the reaction above and use the balanced reaction to determine the mass of aluminum acetate that can be made if I do this reaction with 275 grams of aluminum hydroxide.
6.    

___ C6H10 + ___ O2 ( ___ CO2 + ___ H2O
a. If I do this reaction with 35 grams of C6H10, how many grams of carbon dioxide will be formed?

b. If I do this reaction with 45 grams of oxygen, how many grams of carbon dioxide will be formed?

c. If 35 grams of carbon dioxide are formed from the reaction above, how many liters of O2 were used if the reaction took place at STP?

7. Calcium carbonate decomposes at high temperatures to form carbon dioxide and calcium oxide:





CaCO3(s) ( CO2(g) + CaO(s)

How many grams of calcium carbonate will I need to form 3.45 liters of carbon dioxide?

8. Ethylene burns in oxygen to form carbon dioxide and water vapor:




C2H4(g) + 3 O2(g) ( 2 CO2(g) + 2 H2O(g)

How many liters of water can be formed if 1.25 liters of ethylene are consumed in this reaction?

9. When chlorine is added to acetylene, 1,1,2,2-tetrachloroethane is formed:



2 Cl2(g) + C2H2(g) ( C2H2Cl4(l)

How many liters of chlorine will be needed to make 75.0 grams of C2H2Cl4?

10. Using the reaction   F2  +  2 KCl  (  2 KF  +  Cl2  determine how many grams of KCl are used when 6.5 mol F2 are available.  
11. According to the reaction   Ba(CN)2  +  H2SO4  (  BaSO4  +  2 HCN   determine how many grams of BaSO4 are produced when:
a. 100. g of Ba(CN)2 are available.

b. 1.35 x 1022 molecules of H2SO4 react.

12. If the reaction 3 CO + Fe2O3  (  2 Fe  +  3 CO2  occurred and 45.0 g CO were used,
a. how many moles of Fe2O3 would be used?

b. what mass of Fe metal would be produced?

c. how many liters of CO2 would be released at STP?

13. Consider the reaction: 
C2H4  +  3 O2  (  2 CO2  +  2 H2O
a. If  24.5 g of C2H4 reacts, determine how many molecules of H2O are produced.
b. How many grams of water will be produced, based on the same quantities as in part a?

14. Consider the reaction: Sb2S3 (s)  +  3 Fe (s)  (  2 Sb(s)  +  3 FeS (s)
When 15.0 g Sb2S3 reacts with Fe, how many grams of Sb are produced?
15. Use the following reaction to answer the questions below: 

2 FePO4 + 3 Na2SO4 (  Fe2(SO4)3 + 2 Na3PO4
a. If I perform this reaction with 25 grams of iron (III) phosphate, how many grams of iron (III) sulfate can I make?

b. If 18.5 grams of iron (III) sulfate are made when I do the reaction above, how many grams of Na3PO4 are also made?
16. Use the following reaction to answer the questions below:  CuCl2 + 2 NaNO3 ( Cu(NO3)2 + 2 NaCl
a. If 15 moles of copper (II) chloride react with sodium nitrate, how much (in grams) sodium chloride can be formed?

b. If 11.3 grams of sodium chloride are formed in the reaction above, how many formula units of CuCl2 were used up?
